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MAA 2311 - Calculus I
b Quiz # 1, August 31, 2023
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Problem 1 Find the domain for each the following functions. Specify the domain using interval
notation or inequalities.

<

Y ) (2)
flz) = ln(r2 + 1) s
o Legpie mat - 2 Yo (7»?‘”
BM -l/{/ll‘s I/LaLAS 0()/ M\} b (/\\ (AOO/OO)
N hoA .
e oo e { (-0, ) - inkud nakeh?
JM e % F | or -oo)<x<po ; l'/\eayta(,hxt.«.
b)
Q(II') = 2|:I“| + & ( ‘)
. v '? _3
The 0(\(3 peshrhychon (s A4 D ’i

QO{VWL(A 06 gr ‘(5 (—-00,3) U(B)Oo>

Problem 2 : Solve for x (L(. ()D\YHS)
-
Skart Hat

ln(r”—h(?—x) . [/\U‘,_) -('[r\ [J’)

2ln(z) — In(3 — z) = ln(%) + In(8)
X 1) = ba(ZY (1 point
[ o) = Iyl = Wl lgeria g (1ot

()

roles.
. N o bo‘l"’\ I
y ont -0 - onn . ( porak r +at2, m }ﬂVﬂrb'('
2 - [ ety b (1) ) o

(x) fn (4)+ (n( &)
£ —Gl(3-%) 5

= = lV‘(Ll’ P‘)
—
B-2C

= [nll) (1 (Agr'dj
-pq' 12 +Ux

= &
—_—

=K

7‘1_-6‘(1"7_ k=>4

QC +c) (x-) =

o Determing that  x=2 s ke only oolution be Cuuse
[{\(X) (s Nt 0‘(’,{)\'/\0_:1 *Fur x= -6



' L\S’)
0l N
Problem 3 : (5 (

Consider the graphs of the two functions f and g. Where g is obtained by transforming f.
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a) Which of the following it the correct definition for g? Choose the correct solution:
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b) What is the range of g% Choose the correct solution:
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